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Embryo implants in the of the uterus
a. Perimetrium
b. Cervix

Myometrium

The mammalian forebrain is differential into the thalamus,

limbic system and the
a. Cerebrum

@ Fypothalamus |

c. Cerebellum
d. Hippocampus
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Q20. Organs of excretion in annelids are
a. Greengland
b. Kidneys
c. Malpighian
hlmm

e. Flame cells

The word Alkali means
d. Spirit
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d. All of ! ove

Q32.  Plasma is considered as
a. First
b. Second
Third

state of matter

Atthe same temperature 3
gases

4

Q33. nd pressure which of the followr

1as t‘he,,greatest density




c. Carb ylic Aci
d. None of the above

Innate Behaviour is all except
(3. Flexible

b. Intrinsic

c. Heritable

d. Stereotypic

Qs. The tendency of individuals to resemble their pare
known as

a. Genetics
b. DNA

Erereny ) B
d. None of above
Early divisions of the Zygote are called

d. bryonic
& Cleavages Q1.

C. Yolk Sac

ns s

Q10.

Asp
ASP 190718
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Wh h c ' ""'u«‘-_::_‘;,.‘;,‘._.r.'v_. :
respiration?

a. Protein

b. Sucrose

. Glucose

. Triglyceride

lants inorganic compounds are obtained from the

— Environment
¢. Water
d. Species

enous base uracil instead of

>

'RNA has the nitrog
3. Adenine
Guanine
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ROEthe body is the force needed to prevent
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Q42 A'wars in which th
line parallel to the

e particles of the medium vibrate a|
direction of Propagation the wave is

o
.
2l

Longitudinal wave

Sound wave

d. Tr.msverse wave

Q48. Apparent

the body f:
Which

of the followm
wave

Nature of light?
3. Refraction

b, Diffraction
C. Po!arizan‘on
- Interference )

8 Properties proves the transve
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Q. During elimination reaction two strong sigma bonds are

broken and 2 bond is formed

Weaker Pi Bond -~
¢. lonic Bond
d. Covalent Bond

Q7. Phenol on hydrogenation with H, in presence of Ni catalyst
gives

_;_FW

. Benzene

€. Cyclohexanol ~

Aldehyde

~J
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